#*3 BRETIEMERE IR (2N SE)

Wik (4 ER)
= | 5 s o

I | g | | | R (D)

KA ?:g g HASEC o7l 28 | 20 | 30 [Re| 2 | 3 | 4
fox e BT EMA | A | H26 2 OOl O0O]OlO]10O] 0O
fx e BT (1) WAl A | H26 1 olojlol]o|J]O]O] O] O
it it A | A | H29 1 —|—1OlO|O|O|O|O
R AL vEEs (1) | %A A | H29 2 —|—1OlO|O|O|O|O

TERRKIHL ©) 2|1 2| 4| 4| 4| 4] 4] 4
HERR T K I 2 2 41 4| 4] 4] 4] 4
FEREE (%) — 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100
Wi (/=17 = /)—)L)
= | 5 S s o

T | g | | | A ()

KA ?;EJ g HAE o7l 28 | 20 | 30 [Re| 2 | 3 | 4
R e BRI HEA | A | H26 2 O]l OoO]lOlOlO]O]l0O]| O
R e B (1) LAl A | H26 1 O]l OoO]lOlOlO]O]l OO
R et a0 A | A | H29 1 —|—1OlO|lO|O|O|O

WAL PEE () | AEWERA| A | H29 2 —|—f(Oo]lOlO|lO|O]| O
TERCK ©) 2|1 2| 4| 4| 4| 4] 4] 4
FERIR T K 2 2 41 4| 4] 4] 4] 4
PERKER (%) — 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100
W (E8T7 L N _ B ZVR TR R VD)
= | 5 S s o

O | g | B | | R ()

KA ?;g g HASEC o7l 28 | 20 | 30 [Roe| 2 | 3 | 4
R B EA | A | H26 2 OOl O] OO]10O] 0| O
fx e S (1) AWREAl A | H26 1 OOl O0O]OO]10O] 0| O
ez L 7R A | A4 |H29 1 — | —1O]O|lO|]O| O] O
R vaEs (f) | ZEWHRFA| A | H29 2 — | —1O0O]O|lO|]O| O] O

FERAKIREL ) 2 2 4 4 4 4 4 4
FERR T K 2 2 41 4] 4] 4] 4] 4
FERKEE (%) — 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100

) O BRETHEMEAERL TODKI X BRETEAEZ EERL TV VL ki




